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(GREEN TEXT) CHAPTER 2 NOTES - Equation Solving

Date:
2.2 — Evaluation Expressions
2.3 — Like Terms
2.6 — Using Addition and Subtraction to Solve Equations
2.7 — Using Division and Multiplication to Solve Equations
2.10 — Solving Equations Using More than One Step
2.11 — Solving Equations with Variables on Both Sides
2.12 — The Distributive Property
2.13 — Solving Equations with Brackets

Review:
Test:

What You’ll Learn;

2.2 —using correct vocabulary to describe aspects of equations

2.3 — strategies to add and subtract terms

2.6/2.7/2.10/2.11/2.13 — strategies to solve equations of varying difficulty
2.12 — how to correctly apply the distributive property

What is the opposite of each operation?

Operation Opposite Operation
+ iy
- +
X -
+ X

What is an expression (may need to check glossary)?
ex. Zx Ix-§

What is an equation (may need to check glossary)? 4

a mmfﬁw»ﬂwffhmfe Hhat does have an lefua/{f " sy
ex. xXx+3=7



2.2 — Evaluation Expressions
Focus: Learn vocabulary identified with equation solving.

Main Ideas:

Warmup: +,—“"{“!—\'hm
Name as many parts

3x -5
of the given expression / TLCOMM
as possible: cpg{iﬁuw Variable

What is a variable? a /&b{'f o 71“/‘ o that ,—7,-@5- an r hnown
or W"ﬁ”\é l/a.f/M-lf—- &, X , :1] i

. o ,
What is a coefficient? @ ﬂMMl‘?f W Mu/ﬁ'la/:'er a Var‘taék/

ox x
(the b{j number [y front of 4 variable) Taffriond-
What is a term? a numlvér,ﬂ Var:aﬂc , O The roduct o/’ Aumbers and varidhle
Terws are §efarmlca‘{ 17 ¥ oor —. -—% , 2, szyz

What is a constant?

a 'ferm n an eyfrem'm or efﬂl—?ll‘on Hat s J‘ur{‘a I’IW
ex In 2x - ’7‘) "4 15 fhe constaat g5 ¥ cannof chm?e

What s an expression? A mathomatead /[Mfe Hat does aof have an 'é‘ym/s"s:;;q,
% 32 -72x 7

What is an equation? 2 4 by Caf/a Am Py M dae.s Aﬂve an’ éf' M; S 7&._
o 3x%-x+7 = |

What is substitution? /] S/S'eor#t Vajue 15 ass 7;4@@/ b a varible i an
L;?ms.wbw or efumﬁ'am. Vse bracketr when Suéfﬁ'%déj
e Ix+t5 whew x=| 3/ t5




exl

Identify the

a) variable(s)

b) coefficient(s)

¢) constant(s)

in each expression:

1)2-7p
i) 3x* ~y—5
iif) x — 6b + 1

ex2

How many terms are in
each question in
example 1?

ex3

Evaluate for x = -2
andy =3

a) xy +2x
b)3x7—2y—4

iy

() TT%PJ

lic) x-Lb+
Variables = x,
Coﬂff;‘cﬁ%fs 2/ ) -6
Constont -

ot
Lle

lnﬂf

(i) 3x? -y -5 coe

(l‘) zjltrmr
(D) Zderms
{:’H) 3747ms.

@ xJ+2x,

+ 2(-2)
6 +QLD
~L + -4

=10

variables = x ) j

thvients > 3,
Constanty - “5’

Reflection: Try to make a commitment to use the correct vocabulary over the course of
this chapter. What do you have to work at in order to make this happen?



2.3 — Like Terms

Focus: To be able to identify, count, and combine applicable terms.

Main Ideas:

Warmup:

If you had 3 apples (3a)
and 4 bananas (4b) in
one bowl, and 2 apples
(2a) and one banana (b)
in a second bowl, and
combined them, what
would you have?
Answer in words but
also show work using
abbreviations given in
brackets above.

Ex1

How many terms in

each expression, and
- what are they?

ay2x—3y+7

b)x*—6x +4y—1

What are like terms?

ex2

Simplify
a)y7x+10x+3
b)-9a+2a
¢)6m+4—m
d)8x—-1+x-7
€)3xy—-2y+x

5ﬂff/85 MFW
S5a  ad 53

G € DL

= ba +5b

(@ 21"%9"‘7 2 B ferms 27C) -3\7, 7
) L’—(,x.;-yj I e X 4, L{j) -1

Terms with the Same varablessy rarsed 7 the
Same ekfomnf’[ﬂ

. L oad -5 3z and -Zx I aud z*
Bxd and éZ’,J
@__ 109 +3 G"@"L’ (&) 3y -2y vz
" l7xt2 Sm+y

ho /Iét ferms
() FAa)G 2
A N e o

Ir -8



ex3

Simplify
ay2m+n—-6+n-3m
b)3x"—4+2x - 3% +x
c) Xy + 2xy* — 2xy

Ex4

Write the exgression
2x-3y+5x°—4

three other ways

M+ 2n—b
b B3y
32'—5‘

@5%2+21—33”Lf

ng +Ox* U 47

*'%7 —UY+2x + 62+
M,a/ﬂ7 aﬂuj answers a,/fo

Reflection: Explain what ‘like terms’ are and how they’re used for adding and subtracting.



2.6 — Using Addition and Subtraction to Solve Equations

Focus: Solving one-step equations using inverse operations.

Main Ideas:

Warmup:

Go to p.71 and answer
#1,5,9,12,16, & 18
Write answers to the

right:

What is ‘solving by
inspection’?

exl
How do you solve
X — 2 = § algebraically?

What is the opposite
of each operation?

Tt ©n1 @yt B
() t-22 x=1f

falw'ﬂj by irzs,owf‘fbn 15 when, ?00\ selve ap

e7u/7l70n Vf%uﬁf(g ) m%ou’f /mw‘«j 759/.9 a«j worL

on fa./w'-

8 Qucchons 1 a5k yoursl -
@Maﬁ‘s k{'ﬂ; doae 7‘0 z?

x —
A’l

FA ITS Bemig suspeacten py 2
Cancels @WM ¥ He Ypociife of fuf 7
2 = /o 7e 40D 2
—_— @ p" 7%2 #/ofr;é 74 /,}% Ji‘ﬁ&v,
AP 20 BoTi s
Think : | Jo-2 sid pes. .
ol bogr (ks sk by e k')
e
Operation Opposite Operation
+ R
: +
X -
+ X




ex2

Solven+5=11
algebraically, Ask
yourself the relevant
questions and show
all work.

ex3

Solve & show work:
a)yt+t4==-2
byx-7=-1
c)3+p=2

ex4

Solve & show work:
a)-4+tm=6
b)10=-3+x

Wiat s hugp/m.& fo n?
& 15 BEINS Appep T T
=5 Whats fhe ofﬂas’nlc of Hatl
: SvBTRACTING &

Do %ML 7L0 éf’/ﬁ J'f'/e.f
[sdes fﬁyam;‘a( ‘]éyaw/s'srj«)

SvlTeacr & 7o BoTH Sibes

x%/f
y A
—

h + /
(st /5

n=és
lo 41S equed o 117
yis

@Jtz,‘ftf; O
4= -

s

© 3+p=2
rarrarje leff s

i

@ -4+m=¢ ==
rearmuae,)eHszdc, Clo) 10 = -34+2
m.;j/ A rearcane n‘jh}swh

4 +4
lo xf
m=10 *3 3
—_—
12=2

Reflection: What are the questions you must ask yourself in order to solve an equation
algebraically using inverse operations?



2.7 — Using Division and Multiplication to Solve Equations

Focus: Solving one-step equations using inverse operations.

Main Ideas:

Warmup:
Solvey+3=8
algebraically and
describe the questions
you asked yourself
throughout the process.
Solve 3x = 27 using
the same questions.

exl

Solve by inspection and

then algebraically:
2x=6

ex2 — Solve and show
work:

a)3y=-12

b) 2w =-10

c)4=-x

d)3=2m

e)-2a=0

?H&S-Aom N
be is Ja‘% aé».e Jo Hhe yariabl?

y*ﬁ% §

ll = s §+3 What is %Oflﬂos:/top M?
== eymfziv_é’ Do it o ot ales.

x Is fewg MVLTPLIED By 3
THE 0 PPoSITE 15 7o Divipe AE

%r 22
3
Pe it 7o Boty <ioes.

XZT s 320 cqund 27! fes

/ﬂ 5#59)%’\ : #7 e praveally -
2 fmes what- B s bty e fo 7
»/w ""g 7 e x __é_ Ts Be‘m; MULTIPLIED B 8y 2,
opual fo & Z et e opesic of ot
253 7o Divive Ay L

DIVIDE8Y 2 7% 8o 5/ pes

2= 3

() -dw==10 () 3=2, 40
= W';'iQ =
W=5 22m o




ex3

a) Do a ‘check’ for ex2a

b) Do a check for ex2b

ex4 — Solve and check:

X _y
2

ex5 — Solve & show
work;

y
q) —=2
)7

m
)
)5

¢) —4=—

exb
Do a check for 5b

|

3y=-12 Chek:  Left Sde (1) | Reght Side (45)

. 3 -/
y= Sbshide ng@
answer
-12 chedd
werks!
LS RS Answer was W= §
- | -l
-2(%)
-0 worbs!
Muat fs La p{me )L, 7
-—?é"""' IT's s&1ve ?;wpgp 33);_
% What ‘s The "FDYH‘C?
_X '1‘(2) Mot PL7 By 2
x bor To ;0]1-{ JSibes,
xX=%
Od-2 Oy 4= xH
L =3
(Ay
*}=l(7) =30 J2Z =2

Reflection: Describe the process for doing a check.



2.10 — Solving Equations Using More Than One Step
Focus: Applying inverse operation strategies to solve multiple-step equations.

Main Ideas:

gg?::i?ﬁ =11 by What number Ao you Mu/74-/§ 17 fuo and Hen add Hureo

inspection. f/ ﬂ# i AN
What two things are

happening to x? What =~ X i< L&I'Aj Mu/flff/r't’é/ @ Z"?DF/ /s 74) J{)w%( 57 2z
is the opposite of each? | | - 5 | L"”““‘Q ﬂdélwl 57 3= 0/}/ s ‘fD fuéy{?w/' 2.
W hen Sv/‘ff'/g eyuwﬁons) ,{., > -]-/.., Fiesk

Ex1 - Solve
2x+3=11 Z % + } )
/35/ -3 Subbadt 3 po futh sl
v + €
%74 _3.'2.. Aivide 67 2 on bofh sides.
X T4
Check your answer. /RS RS
2x+3| I
@+3
g+3
I
l) Puf' ‘/vyeﬂl&- ang like ferms That are on the Same side
What the st t 1 |
solvingzlulfi-ssfgs ’ 2) What is lmﬁa w,’:j oz
equations? 3) Whot Gre Fhe 0/,905!“7‘3{ 7

4) Do oo opposiec o buth sides, bub o e
adi [l part shy et

5") D- The Mﬂ/f!‘/’/j /&Z«‘mb& s)(&,o.
6) Checl




« X s bes whiracted 7
31—/) ¢ wuhpledly 3 by 7 and
T +7 . 0}7)95:‘1’& s 1o add 7 and drvide 3,
jutls
3
x3 — Solv
0 5x+4=-16 @ 5x+ 44 = -l @@+@=7 © -Im + 3=-2-¢
b)3x+2+2x=7 _ -y _ I
¢)-m+3=-2-6 Sz +2=7 /M:%—— i
x = -20 *2__ 52 >
z x =5 e =
5 - —
Z2=-4 ] /
—
ex4 — Solve 0 57« o
05 -8=-3 ) EA OEHD2)-7k4
3 Hings st X .
rg¢ hagpenin fo 2 e -
b)-24-1=-2y-7+4y subfract 8/0{,% 472“/”4‘4;71;7'15/ 25 = ZJ:/
Wi 18] oty 2 ) div 5 +7 7
oL 4= 3 18 = 24
= +8 2 2
@_i% = 5 th for : _9;
ex5 — Do a check for 4 5(2) Che T %
ex4b - 10 LS RS
—Ex =1L BN VIR
> 28 [-a(4) -7+ HE-1)
1=7 18 <736
=
—25

Reflection: How will you go about solving multi-step equations so that you are certain
that your answer is correct? Explain



2.11 — Solving Equations With Variables on Both Sides

Focus: Applying inverse operation strategies to solve equations with variables on both sides.

Main Ideas:

Warmup:

For the equation
Ix+4=1+2x% how
can you get the 2x
term to the left side?
Try your strategy, and
then solve for x.

ex1 — Solve and jot

down the questions you

ask yourself
3x+1=x-5

What are the steps when
the variable is on both
sides?

ex2 — Solve and check
3x+5x=-10—2x

_276 + L{ = /-1';‘,330/ 4/4{!"5 275. Wﬁ.%/’g a/a,as':‘k?

3 ¥ - 2 '5“5?614/1 ZZ
,_zi LI )f/j: ;ué'h'ﬂﬂL Z.x Yo éo‘fﬂ ,:?/#r«
[x +4 =1 or 2+ Y =1
4 -4
x=-3

gx« + , = ' "5 @/{—n‘j /,'['e 74:(,"5 oh éf%r Sc'JE 7 Mo
e e D Howde Lyot [ Ao the (eff cide?

ITs fostTive ;50 SUBTRACT T 7o loy Sies

B what beony dows o . ?

ADDiNG | ~AND MuLT BY z

L ==L @ww‘sﬂww«m

> SvlTEACT | /K/p pivioe l’»7 2.
1=-3
_—

1) Combrne any libe ferms on cach side
2) Q’,f' an x ‘kym ﬁ Hu ofber cide 1, youh down +o

ohe X ferm.
3) Asle whati Aﬂf/b‘ll"‘j 749 z7
y) What v fhe opposie ?

6) Do the Opposih 4o both sides doisg adld fubtract fiesf

@@ = =02

& x "’/O"ZZ%,
+22 +7z

03 = ~10
o o

1=




ex3 — solve and check
3x+2=-3x-16

ex4 - Solve
4x —T+2x=-20-5

ex5 — Solve and check
3+2x=x+3-4x

x +2 = =24 /1L Ls RS
i ik %42 [ -3¢
b ¢/Z= ~/¢ G2 G -1¢
2 "2 “T+2 | 5-4
x = /8 -1 =/
£
2=-3
—_
19-7¢29- F2g[-s |
bx-1= 25
17 +7
bx=-19
6 A
x=-3
3+2x =D +3¢5 iﬁ&é
3+2x = 54 + 3 > RS
x4 42 | -x+3- Y=
34Tx = 3 R OROBED
e %3~ 3 3;0 O+3-0
3 - 3
e
=
X=p

Reflection: How do you get the x terms on the same side of the equation? Explain.



2.12 — The Distributive Property

Focus: To learn how to multiply a term into brackets.

Main Ideas:

ex] — describe the steps
as you ‘expand’
2(x+5)

ex2 — Expand
a) 3(x + 2)

b) 7(x+ 1)

) -2(x + 6)

d) 4(x —4)
e)—(y—-3)

f) 3(5x — 2y — 2)

ex3 — Expand & Simplify
32x-3)-3(2x-5)

/T\,
Z X +5 Muh(fl;lj Pe numbe- 7‘9 Fhe /CH a#
( ) ‘H’leénwke/— 57 e,{c[‘ ferm in ﬂ.o
brackeF

2 —ﬁ‘w; y 2 eqm/{ Ix

2 fimes § e’7unf5 lo (fosf'/lw_la)

1x -FI@

N
@ 3/[3’;}2) @D L[(?f "+) @) 3@2)
3x+b =1t

B 7ory © - g
7‘JL+7 —'(j_3>
© Gy -lyr3

~Z2x 12 “Yt3

[5x - j-—é

o
3(2x-3) ’:@5)

CIEU DT
A

———



ex4 — Expand & Simplify

a4dy-1)~(y+3)
b) 2(x* - 2x +3) - 3(x + 4)

Y
@ 4(3-0"5@?@ ® ®a@>

PP
3}; 7

Ll L3312

2x* =T =¢

———me

Reflection: What do you have to be most careful of when working with distributive

property?



2.13 — Solving Equations With Brackets

Focus: Learning to solve equations that involve distributive property.

Main Ideas:
Write down the st Vv
ang :c.)l\?e‘:?llle f?)lslc?\fr?ng 2(1’3) -5-= / 3-H= @ﬁ?amf backets
;((l:itlg)n:_5=13—4x 21CDED" 13-4, (B lombine [ke feoms: (svme scleonly)
%=1 = [3-y @Gef vacable fv Same sid.
Ly //L ADD Y To BOTH sive
61 "y/: 13 SvBTEACT By 11y MuLT By 6
Wiy +HI © what © e opposie ?
_é)( - Z_i‘ APO Byt Div By 6
l 6  a=4
—_—
1 — Solve & check m
exz(xi)?:f)ezzc ec. Z(x"s)‘l
| Ix~4 = 2
.t
x=8
2 — Solve & check -_2—; E m ?,—1
An+ Ty = 44+ 20+ 6 1 1047) = 442 nte)
L/n t 18 = (Chtf)+2n @
n+28 = =32+ 7
~dn - In
In+ 28 = -32
-2 -28
%n = ~fo
2
nN=-30
—_—




ex3 — Solve
Tx-1)-2x-6)=

2x-5)+6
ex4 - Solve

2x+ D) -(x+4)=1

ey
TN G0y - 2% 4

5-:76 + 5 = %f.—[_{_
-2z -
2x t/ﬁé = -4

g -5
7

3

X =L =]
L+

xX=23
=

Reflection: Write the general steps in your words for solving an equation like that in ex4.



